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Each question carries two marks : 

c) Ar 

Direction : In each of the following ques 
tions four options are given, choose the 

right answer. 

1. The term Agricutute is derivcd from two 
Latin words ager or agri meanitig 
a) Water 

2. The father of the Grcen revolution n Ind1a is 
a) Willam Gaud b) Kirti Singh 
c) MS Swaninathan d) KL Chaddha 

3, Which of the following are the man fcafures 
of Green revolution, 

c) () & (n) only 

)High Yiclding Varienes, chemical fertilzers and 
pesticides 
1) High Yiclding Vaneties, mcchanization of ag 
riculture and itrigation 

a) Matured ovule 

n) High Yicldng Varicties, processng and post 
harvest management 

b)Soil 

Iv) High Yiclding Varicties, chemmcal fertiazets 
and precision farming 
a) ()) onl 

c) Both of the atbove 

4. Technologically, soed tmay be 

d) None of the above 

d) All of the above 

b) Propagating materials 

a) 2-4 
c) 8-10% 

a) Justus van Lcbig 
6. It is considered that 

PAPERI 

AGRONOY 

PARTA 

5. The optimum mossture contunt of secd for 
long term storaye 

c) Thomas Jetferson 

a) Random sowing 

b) (0) only 

c) Line sowing 

MASP-D 

d) (o) &(iv) only 

7. Dibbling is also known as 

b)6-8% 
d) 10-12% 

as father of tillage 
b) Francis Bacon 

d) Jethrotull 

b) Drill sow Eng 
d) Broadcasting 

8. The immobile essential clencts withun plant 

are 

a) Zn 

9. The biourtilr cgue uscculaits ws lhàaly 

due to organiem 
a) Pscudomonas 
c)Azosp1rillum 

1 

10. The index tassue for mutrient aalysis in cat 

c) Petuole ( month old) 

a) Leaves petiole (3-5 months old) 
b) Yourngest lcaves 

d) All of the above 

c) Water quantity 

1, Depth of water requircd by a crop is 
a) Water level 

a) Soil conservation 

b) B 
d) P 

d) All cf these 

12. The iniportant approach in mcro watershed 

b) Azalla 
d) Rhszobum 

b) Productivity nprovement 

a) capillary water 

c) Storage of runof water 

c) gravity water 

14, Fertioution is 

13. The water utilizable by plants s available in 

b) Water height 

soiis maunly n the form of 

d) Delta 

eation d) Cetr D 

Proeramn:) 

ve s a process in 

a) Sprinkler rigaban 

b) chemcal water 
d) hv droscopic watur 

pivot irrigatioa 

15. What are the bune fits of implementing the 
Integrated Watershed 

)Preyesting soil runoff 

Development 

) Linking the perennial rivers with seasonal riV 

i) Rauwater harvesting and recharge ef yround 
water tahle 
ivRe Regeneration of natural vegetation 
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a) (i) and (i) only 
(ü), , (iim) ana (iv) only c)(), (i) and (iv) only d) (i), (im), (in) and (iv) 

b) 

16. In India the National Famers' Day or Kisan Diwas is cclebratcd on the a) Novenmber 27 
c) December 23 

a) Cuscuta 
c) Striga 

17. The partial root parasite i5 

b) Novenmber 30 

18, Successful weed management is based on 
i) Knowledge on wced biology in) Survey on the nature of wecd problem 

b) (0). (i1) and (ii) only 

d) December 25 

ii) Whole farm planning iv) Renoval of weods before flowering a) (1) and (n) only 
c) (), (ii) and (iv) only d) all of the above 

b) Loranthus 
d) Orobanche 

Whcat c) Castor 

19. Besides providing Nitrogen, Azolla is uscd for weed control in 

a) mg/kg body weight 
20. What are the units of LD ? 

b) Rice 
d) Linsced 

b) g/g body weight c) kg/g of body weight d) mg'g body weight 
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Esh qucstion CaTTIes tw0 masks . 
A adscious remuval af plant parts to naun 

in a baBance bct wccn vegstativc and reHO 
ductive is called 

a) Trainine 
CCaltural eperation 

a) Square system 
c) Triangular svstem 

9 How tmuch does hexagonal planting svstem acoonmodate more plants than square system 
a) S prcent 
c) (S percent 

23. Filer trges are foxatnd n 

a) GA3 

c) Ethvlene 

24. India is the wold's leading producer of tlhe following fruit crops 
a) Mango 

c) Papava 

b) Prunng, 

25. Mcaha Turmeric -l is a a) Cloal sclcction 
c) Transgcnic 

b) Seual propagaton 

d) None of tle above 

c) Both of the above 

b) 10 petcent 
d) 20 percent 

a) Ascxal propaathon 

d) None of the above 

26. The growth regulator used for mduction of parthenoxarpy in grapcs 

) Kha mandarin 

b) Rectangular svstem 
dy Quincuns svste 

b) Banana 

27. Piopagatios due to mtotic divisssn 

a) 1-tuddiag 

MASE 

d) All of the above 

byHsbrids 

PART D 
BORTICUILRE 

d) None of the above 

b) NAA 

d) ABA 

28. Nscelar seodings n citrus are 
a) Truo-to-type 

Vigorous socdlings d) All of the above 

29. Ruty Red sa sport mutant of 
aj Grapefruit 

b) Virus frcc 

bi Apple 
d) Pcar 

30. The ooncTCial propagatin tochaique of 
Khasi mantarin a hcavy ranfall arcas is 

b) lavettod 1-Buddng 

o Putch budd1ng 

J1. The most recent ad ancernet n raisng of 
plants under huphlv controlled envIcuTItal con 
ditions is 

a) Grceihousc 
c) Plstotio 

Orchard crons 
a) Bas1n method 

JZ, Which metho of rnation is suitable for 

c) Furrow method 

a) Southcast Asia 
c) South Amenea 

33. The origm of tca (Camella sinensis) is 

a) Oil pam 
C) Coconut 

34. Mohitnagar is a vancty of 

c) Opam 

) Cashe 

d) All of the above 

35. Fls Picking is associatcd with a) Black pepper 

a) Rubber 

b) latl1 bouse 
d) Mist chaniber 

c) Arccaut 

b) Ring bas1n method 
d All of these 

36. Tca nosquito is a major pest of a) Coconut b) Cocan 

b) Central Asia 
d) East Asian 

37. Aboormal lcaf fall is a discase ot 

rass 

b) Arccamit 

d) Cocoa 

Japancse parden 

b) Cashew 
d) Coffe 

38. A Lawn can be described as 
a) Grocn carpet 

a) Malvaccae 

d) None of the above 

b)A land covcred wals lawn gass 

c) Amar lladacese 

c)A pisce of land n a garden 

d) Coffce 

d)Abcautifully desigaed picce ef land with gron 

39, Whch is knoNn as manature earden 
a) Mughal gatden 

40. Family of tuberose is 

by Englsh garden 
d ltalaan gardcn 

b) ResaSCaS 
d) ConpIsitac 
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Each question carries two tnarks 

41. The respottse of plants to the relative length 
of day and niga is known as 
a) Vernalizatian 
c) Phototropasm 

c) Barlcy 

42, Which of the followng is a long day plant ? 
u) Suga bot 

a) Zero 
c) Twenty 

43. In flaccid cell, the pressure potential is 

a) Vital theos 
b) Phvscal farce thcory 
c) Root pressure theory 
d) All of these 

45, Which is a C4 plant 
a) Soyabean 

c) Pincapple 

44. To cxplain ascent of sap in plants, Sir JC. 
Base (19 

C4 cycle 

proposcd 

a) Only Xylem 
b) Only phlocm 

d) Stona 

b) Photoperiod1sm 
d) Nonc of these 

b) Whcat 

trhents 

d) All of these 

46. Which is a continuous saurce of water m 

tial nutrnents 

b) Ten 
d) One 

a) Mango 

c) Vascular tissue which cemtsists bath xvlem and 
puloçm 

c) Kiwifruit 

b) Maize 

47. Hidden hungcr in plant is 

d) All of the above 

a) n which plant sliows deticency Symptons 
which plant docsn r show deficiencv symp 

c) In whuch plant nccds suppls of essental na 

PART C 
PIHYSIOLOGY 

d) In whch plant doesn't nccd supply of cssen 

48, Whch is a CAM plat ? 
b) Tamarind 
d) Pncapple 

49. Whos known fatiher of plant phys«ology 
a) W Kuntis b) Funk 

4 

c) FIsher 

50. In gcrminatung socds supar S pres a) MaltOse 

d Stephcn halcy 

c) Galactosc 
b) Glucose 
d) Fructove 
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